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Question1

Diagram NOT
accurately drawn

3.

1
'

A solid cylinder has a radius of 5.1cm and a height of 3.7cm

Work out the total surface area of the cylinder.
Give your answer correct to 3 significant figures.

[3 marks]
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Question 2

Diagram NOT
accurately drawn

The diagram shows a prism.

The cross-section of the prism is an isosceles triangle.

The lengths of the sides of the triangle are 13 cm, 13 cm and 10 cm.
The perpendicular height of the triangle 1s 12 cm.

The length of the prism 1s 8 cm.

Work out the total surface area of the prism.

[3 marks]
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Question 3

Here is a cuboid.

Diagram NOT
accurately drawn

[.5cm

1.5 cm

6 cm

The cuboid 1s 6 cm by 1.5 cm by 1.5 cm.

Work out the total surface area of the cuboid.

[3 marks]
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Question 4

Diagram NOT

//—m accurately drawn

8.2 cm

A solid cylinder has radius 3.5 cm and height 8.2 cm.

Work out the total surface area of the cylinder.
Give your answer correct to 3 significant figures.

[3 marks]
Question 5
(b) The height of the cylinder is 30 cm, correct to the nearest centimetre.
(1) Write down the lower bound of the height of the cylinder.
(11) Write down the upper bound of the height of the cylinder.
[2 marks]
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Question 6

The diagram shows a solid cylinder.

A | 11 cm 3 Diagram NOT
w accurately drawn

30 cm

- - —

The cylinder has a height of 30 ¢cm and a radius 11 cm.

(a) Work out the total surface area of the cylinder.
Give your answer correct to 2 significant figures.

[4 marks]
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Question?7

A cylinder has diameter 12 cm and length 30 cm.

Diagram NOT
m accurately drawn

30 cm

e —————
- -~

Work out the curved surface area of the cylinder.
Give your answer correct to 3 significant figures.

[3 marks]
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